Math 102 – Quiz #9 (Sections 3.6) 
Name ______________________________

Show your work to receive credit!

1.
A caterer uses the linear equation 
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 to find the cost (in dollars) of catering a party for n people.   


a.
Find the slope of the linear equation.  (Include appropriate units.)


b.
Write a sentence that describes the cost to cater a party.


c.
What is the cost to cater a party for 40 people?


d.
How many people attend a party if the cost is $600?

2.
The value of a company’s stock decreased from $90 per share on January 1, 2008 to $65 on May 1, 2008 (four months later).  


a.
Find the average rate of change in the value of the stock per month.  (Include appropriate units.)


b.
Write a linear equation that gives the value V of the stock t months after January 1, 2008.

c.
Predict the value of the stock on January 1, 2009.  Write your answer in a sentence.
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